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Why do we need Normal approximations? One reason: invNorm-type problems. : ‘ 5,,,.?’?”% -y

Let’s reconsider the Frogs problem assuming we take a sample of 150 frogs with p=0.125 (1 out of 8)

a) Use a binomial model to find the probability of a sample of 150 frogs having more than 22 frogs with the tralt
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b) Use a Normal approximation to the binomial model to find the probability of a sample of 150 frogs havihg
more than 22 frogs with the trait.
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- ¢) Now what if we asked this: If we consider a probability of 5% or less to be ‘unlikely’, how many frogs would
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_have to have the trait in a sample of 150 for this result to be ‘unlikely’?
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Chapter 17 Practice Quiz

AP Statistics Quiz C ~ Chapter 17 Name

The owner of a small convenience store is trying to decide whether to discontinue selling
magazines. He suspects that only 5% of the customers buy a magazine and thinks that he might be
able to use the display space to sell something more profitable. Before making a final decision he
decides that for one day he’ll keep track of the number of customers and whether or not they buy a
magazine.

1. Assuming the owner is correct in thinking that 5% of the customers purchase magazmes, how
many customers should he expect before someone buys a magazine?
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2. What is the probability that he does not sell 2 magazine until the 8" customer? Show work.
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3. What is the probability that exactly 2 of the first I“Tmstomers buy magazines? Show work.
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4. What is the probability that at least f— his £ ﬁmt 50 Eusmmers buy magazines?
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5. He had 280 customers that day. Assuming this day was typical for his store, what would be the
mean and standar ewatxon of the number of customers who buy magazmes each day?
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6. Surprised by a high number o customers who purchased magazines that day, the owner
decided that his 5% estimate must have been too low. How many magazine sales would it have

taken to convince you? Justify your answer. ¥
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